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Determine the largest load P that can be supported by the circular steel bracket shown
in Figure P-907 if the normal stress on section A-B is limited to 80 MPa.
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Hence,
P =29.92kN answer
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For the 2-in. by 6-in. wooden beam shown in Fig. P-906. Determine the normal stress
at A and B. Are these the points of maximum normal stress? If not, where are they
located and what are their values?
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Problem 905
A wooden beam 100 mm by 200 mm, supported as shown in Figure P-905, carries a

load P. What is the largest safe value of P is the maximum stress is not to exceed 10

MPa?
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